

①.

FLT+2.

Let p be an odd prime and let $p \nmid xyz$ and
- let $x^p + y^p + z^p = 0$. Maybe $p \mid z$.

Then $x + y = c^p$, etc; $x = -a^p$, etc.

Now $(x+y+z)(xy+yz+zx)$

$$= x^2(y+z) + xyz + y^2(z+x) + xyz + z^2(x+y) + xyz$$

$$= x^2(y+z) + y^2(z+x) + z^2(x+y) + 3xyz$$

But $(x+y+z) \equiv 0 \pmod{abc}$.

$$\text{So } 0 \equiv z^2 a^2 + y^2 b^2 \pmod{c} \quad \dots (1)$$

$$\text{Also } za + yb \equiv 0 \pmod{c} \quad \dots (2)$$

(2) gives $z^2 a^2 \equiv y^2 b^2 \pmod{c}$

$$\text{Put (3) in (1):} \quad \dots (3)$$

$$0 \equiv y^2 b^2 a^p + y a b^p \pmod{c}$$

So $a^p + b^p \equiv 0 \pmod{c}$. Known

$$\text{Also, } (x+y+z)(xy+yz+zx) =$$

$$x(y^2+z^2) + y(z^2+x^2) + z(x^2+y^2) + 3xyz$$

$$\text{So } 0 \equiv xy^2 + yz^2 \equiv xy(y+z) \equiv 0 \pmod{c}$$

②

$$\text{But } (x+y+z)(xy+yz+zx)$$

$$= x(y+z)^2 + y(z+x)^2 + z(x+y)^2 - 3xyz$$

So $0 \equiv 3a^{2p+1} + 2b^{2p+1} \pmod{c}$ ----- (4)

By (4), $3a^{2(4p+2)} \equiv 2b^{4p+2} \pmod{c}$ ----- (5)

~~Put (5) in (4)~~ Put (1) in (5):

$$-2b^{2p} a^{3p} \equiv 2b^{2p} b^{3p} \pmod{c}$$

$$a^{3p} + b^{3p} \equiv 0 \pmod{c}$$

$$(a+b)(a^{2p} - ab^p + b^{2p}) \equiv 0 \pmod{c}$$

known!

(2) gives $a^3 \equiv -b^3 \pmod{c}$ ----- (6)

Put (6) in (4): $0 \equiv -2b^3 a^{2p} + 2b^3 b^{2p} \pmod{c}$

So $a^{2p} - b^{2p} \equiv 0 \pmod{c}$

$(a+b)(a^p - b^p) \equiv 0 \pmod{c}$, known!

(5) + (6) give $0 \equiv a^{4p} - b^{4p} \pmod{c}$

$$0 \equiv (a+b)(a^{3p} - a^2 b^p + a^p b^{2p} - b^{3p})$$